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General Instructions/ lkekU; funsZ’k % 

 1. Write your Name, Roll Code, Roll No. Registration No., Date of Exam., Sitting, 

Faculty and  Name of the Subject on the OMR  Answer Sheet in the space Provided. Put 

Your Full Signature  on the OMR Answer Sheet in the  space Provided.  

vki viuk uke] jkSy dksM] vuqØekad] iath;u la[;k] ijh{kk dh frfFk] ikyh] 
foHkkx rFkk fo"k; dk uke OMR mÙkj i=d esa nh xbZ txg ij fy[ksaA vki 
viuk iwjk gLrk{kj OMR mÙkj i=d esa nh xbZ txg ij djsaA  

2. There are 40 Multiple Choice Questions in all. 

dqy 40 cgq&fodYih; ç’u gSaA 
3. All questions are Compulsory. Each question carries 1 mark. 

lHkh ç’u vfuok;Z gSaA çR;sd ç’u 1 vad dk gSA 

4-Four Options are given for each question. Choose the most suitable option and indicate it 

by blackening the appropriate circle [   ] in the OMR Answer Sheet given separately. Use 

only Blue/Black Ball-Point Pen. The use of Pencil is not allowed. 

çR;sd ç’u esa pkj fodYi fn;s x;s gSaA buesa ls lcls mi;qDr fodYi pqudj 
mls vyx ls fn;s gq, OMR mÙkj i=d ij lgh xksys dks dkyk dj [    ] mÙkj dks 
lwfpr dhft;sA uhyk ;k dkyk ckWy&IokbaV dye dk gh ç;ksx djsaA  isafly dk 
 ç;ksx oftZr gSA 
5. Before leaving the examination hall hand over the OMR Answer sheet to the invigilator. 

You  are allowed to take the question paper with you. 

ijh{kk Hkou NksM+us ls igys OMR mÙkj i=d oh{kd dks ykSVk nhft;sA ç’u&i= 
vki vius lkFk ys tk ldrs gSaA  
 

 

 

    

 

 

 

 

 

 

Adhere to the instructions above very carefully otherwise your OMR Answer 

Sheet will be invalid and will not be evaluated. 

 Åij of.kZr funsZ’kksa dk /;kuiwoZd ikyu dhft, vU;Fkk vkidk 
mÙkj i=d vekU; gksxk vkSj mldh tk¡p ugha dh tk;sxhA  

Full Marks : 40 
Time – 1 hr 



 

PHYSICS 
Class – XI

th
 

 

 
 

 All questions are Compulsory. Each question carries  1 mark  

 
1. Electromagnetic force is – 

(a) attractive in nature    (b) repulsive in nature 

(c) attractive as well as repulsive in nature  (d) None of these 

 fo|qr~&pqEcdh; cy gS & 
(a) vkd"kZ.k çdkj dk    (b) çfrd"kZ.k çdkj dk 
(c) vkd"kZ.k o çfrd"kZ.k nksuksa çdkj dk  (d)  buesa ls dksbZ ughaA 

2. 1 Fermi  

(a) 10
-15

 mm  (b) 10
-15

 cm  (c) 10
-14

 m  (d) 10
-15

 m 

 ,d QehZ gksrk gS & 
(a) 10

-15
 mm  (b) 10

-15
 cm  (c) 10

-14
 m  (d) 10

-15
 m 

3. Parsec is the Unit of -  

(a) Time  (b) distance  (c) Frequency   (d) Speed 

 ikjlsd ek=d gS & 
(a) le;  (b) nwjh  (c) vko`fr   (d)  pky dk 

4. 1  a. m. u =…………………. 

(a) 1.66x10
-24

 kg (b) 1.66x10
-27

 kg (c) 1.66x10
-25

 kg (d) 1.66x10
-30

 kg  

 ,d ijek.kq æO;eku ek=d ¾ ------------- 
(a) 1.66x10

-24
 kg (b) 1.66x10

-27
 kg (c) 1.66x10

-25
 kg (d) 1.66x10

-30
 kg  

5. Dimensional formula for the pressure is -  

(a) [ML
-1

 T 
-2 

] (b) [ML T 
-2 

]  (c) [ML
-2

 T 
 
]  (d) [M

-1 
 L

-1 
T 

-2 
]  

 nkc dk foeh; lw= gS & 
(a) [ML

-1
 T 

-2 
] (b) [ML T 

-2 
]  (c) [ML

-2
 T 

 
]  (d) [M

-1 
 L

-1 
T 

-2 
]  

6. If a man goes 10m towards north and 20m towards east, then his displacement is  

(a) 22.5 m  (b) 25 m  (c) 25.5 m  (d) 30 m 

 ;fn ,d O;fDr 10ehVj mÙkj dh vksj rFkk 20 ehVj iwoZ dh vksj tkrk gS] 
rc mldk foLFkkiu gksrk gS & 
(a) 22.5 m  (b) 25 m  (c) 25.5 m  (d) 30 m 

7. A cyclist moving on a circular track of radius 40m Completes half a revolution in 40 sec. Its 

average velocity is-  

(a) Zero  (b) 4 π  m s
-1

  (c) 2  m s
-1 

 (d) 8 π  m s
-1

 

 40 ehVj dh f=T;k okys ,d o`Ùkh; ekxZ ij ,d lkbfdy pkyd vk/ks pDdj 
dks 40 lsds.M esa iwjk dj ysrk gSA bldk vkSlr osx gS & 
(a) Zero  (b) 4 π  m s

-1
  (c) 2  m s

-1 
 (d) 8 π  m s

-1 
8. The motion of a particle is described by the equation  X= at+bt

2  
where  a= 15 cm S

-1
 and      

b = 3 cm S
-2

, Its instantaneous velocity at  t= 3 sec will be   

Full Marks:40 (40x1) 



(a) 33 cm S
-1 

 (b) 18 cm S
-1  

(c) 16 cm S
-1 

 (d) 32 cm S
-2 

 

 fdlh d.k dh pky ds lehdj.k dks X= at+bt
2
, ds }kjk crk;k x;k gS] tgk¡  a= 

15 cm S
-1

 ,oa  b = 3 cm S
-2

,  bldk rkR{kf.kd osx t= 3 sec ij gksxk &      

(a) 33 cm S
-1 

 (b) 18 cm S
-1  

(c) 16 cm S
-1 

 (d) 32 cm S
-2  

9. The area under acceleration –time graph represents the 

(a) initial Velocity  (b) Final Velocity  (c) Change in Velocity    (d) Distance travelled  

 Roj.k&le; xzkQ ds varxZr {ks= n’kkZrk gS & 
(a) vkjafHkd osx  (b) vafre osx (c) osx ifjorZu  (d)  r; dh xbZ nwjh 

10. A vehicle travels half the distance L with speed V1 and the other half with speed V2 , then its 

average speed is  

(a) 1 2V V

2

+
  (b) 1 2

1 2

2V V

V V

+

+
  (c) 1 2

1 2

2VV

V V+
 (d) 1 2

1 2

( )L V V

VV

+
 

 ,d okgu fdlh L nwjh ds vk/ks Hkkx dks V1 pky ls rFkk vU; vk/ks Hkkx dks 

V2 pky ds lkFk r; djrk gSA rc bldh vkSlr pky gksxh & 

(a) 1 2V V

2

+
  (b) 1 2

1 2

2V V

V V

+

+
  (c) 1 2

1 2

2VV

V V+
 (d) 1 2

1 2

( )L V V

VV

+
 

11. Two cars A and B are running at velocities of 60 Kmh
-1

 and 45 kmh
-1

 . What is the relative 

velocity of car A with respect to car B, if both are moving eastward? 

(a) 15 kmh
-1

  (b) 45 kmh
-1

  (c) 60 kmh
-1

  (d) 105 kmh
-1

  

 nks dkjsa] A ,oa B,  60 Kmh
-1

  o 45 kmh
-1

 ds osxksa ls py jgh gSaA B ds lkis{k A dk 
vkisf{kd osx D;k gS ;fn nksuksa dkjsa iwoZ dh vksj xfreku gksa\ 
(a) 15 kmh

-1
  (b) 45 kmh

-1
  (c) 60 kmh

-1
  (d) 105 kmh

-1
  

12. Which of the following is not a property of a null vector ?   

(a) A O A+ =
�� �� ��

   (b) O Oλ =
�� ��

 (Where λ   in a scalar)  

(c)  OA A=
�� ��

   (d) A A O− =
�� �� ��

 

 fuEu esa ls dkSu&lk xq.k 'kwU; lfn’k dk ugha gS\ 

(a) A O A+ =
�� �� ��

   (b) O Oλ =
�� ��

 ¼tgk¡ λ ,d vkfn’k gSA½  

(c)  OA A=
�� ��

   (d) A A O− =
�� �� ��

 
13. If  A

��

 is a vector of magnitude 5 units due east. What is the magnitude and direction of a 

vector  - A
��

?  

(a) 5 units due east   (b) 25 units due west  

(c) 25 units due east   (d) 5 units due west   

 ;fn iwoZ dh vksj lfn’k A
��

 dk ifjek.k 5 bdkbZ gS] rks & A
��

 fn’kk okys lfn’k dk 
ifjek.k vkSj fn’kk D;k gksxk\ 
(a) 5 bdkbZ iwoZ dh vksj  (b) 25 bdkbZ if’pe dh vksj   
(c) 25 bdkbZ iwoZ dh vksj  (d)  5 bdkbZ if’pe dh vksj 
 
 
 
 
 



 
14. The relation between the time of flight of projectile Tf and the time to reach the maximum 

height Tm is 

(a) Tf = 2Tm  (b) Tf = Tm  (c) Tf =
2

m
T

  (d) Tf = 2(T )
m  

 ç{ksI; ds mM~M;u dky] Tf ,oa vf/kdre Å¡pkbZ rd igq¡pus dk dky] Tm  ds 
chp laca/k gSA 

(a) Tf = 2Tm  (b) Tf = Tm  (c) Tf =
2

m
T

  (d) Tf = 2(T )
m

 
 

15. An insect trapped in a circular groove of radius 12 cm moves along the groove steadily and 

completes 7 revolutions in 100 sec. The linear speed of the insect is   

(a) 4.3 cm S
-1

  (b) 5.3 cm S
-1

  (c) 6.3 cm S
-1

  (d) 7.3 cm S
-1

  

 12 lseh f=T;k okys fdlh o`Ùkkdkj iFk esa ?kwe jgk ,d dhM+k leku :i ls 
xfr djrk gS rFkk 100 lsd.M esa 7 pDdj iwjs dj ysrk gSA dhM+s dh js[kkh; 
xfr gksxh&  
(a) 4.3 cm S

-1
  (b) 5.3 cm S

-1
  (c) 6.3 cm S

-1
  (d) 7.3 cm S

-1
  

16. A stone of mass 1kg is lying on the floor of a train which is accelerating with 1 ms
-2

 . The net 

force acting on the stone is  

(a) Zero  (b) 1N  (c) 5 N  (d) 10 N 

 1 fd-xzk- æO;eku dk ,d iRFkj ,d Vªsu ds Q’kZ ij 1 eh@lsd.M 2 ds Roj.k 
ds lkFk fxj jgk gSA iRFkj ij dk;Z’khy dqy cy gksxk & 
(a) 'kwU;  (b) 1 U;wVu  (c) 5 U;wVu   (d)  10 U;wVu 

17. A cyclist bends while taking turn to.  

(a) reduce friction    (b) generate required centripetal force  

(c) reduce apparent weight   (d) reduce speed  

 lkbfdy lokj eqM+rs gq, >qd tkrk gS & 
(a) ?k"kZ.k de djus ds fy,  
(b) vko’;d vfHkdsUæh cy dks mRiUu djus ds fy,   
(c) lrgh Hkkj dks de djus ds fy, 
(d)  pky de djus ds fy,A 

18. A book is lying on the table. What is the angle between the action of the book on the table 

and the reaction of the table on the book? 

(a) 0
0
   (b) 45

0
   (c) 90

0
   (d) 180

0
  

 fdlh est ij ,d iqLrd j[kh gqbZ gSA est ij iqLrd dh fØ;k ,oa iqLrd ij 
est dh çfrfØ;k ds chp dk dks.k D;k gksxk\ 
(a) 0

0
   (b) 45

0
   (c) 90

0
   (d) 180

0
  

19. Product of force and Displacement called  

(a)  Energy   (b) Power  (c) Momentum  (d) Work  

 cy ,oa foLFkkiu dk xq.kuQy dgykrk gS 
(a) ÅtkZ  (b) 'kfDr  (c) laosx   (d)  dk;ZA 
 

20. A boy lifts a mass of 1 k.g to a height of 1m in 20 sec. The power of the boy is (take 

g=10m/s
2
) 



(a)  0.1W  (b) 0.2W  (c) 0.25W  (d) 0.5W  

 ,d yM+dk 20 lsd.M esa 1 ehVj Å¡pkbZ rd 1 fd-xzk- ds ,d æO;eku dks 
mBkrk gSA yM+ds dh 'kfDr D;k gS\ 
(a)  0.1W  (b) 0.2W  (c) 0.25W  (d) 0.5W 

21. A ball of mass  m  collides with a wall with speed ‘V’ and rebounds on the same line with the 

same speed. If the mass of the wall is taken as infinite, then the work done by the ball on the 

wall is  

(a)  mv
2
  (b) Zero  (c) 

1

2
mv

2
  (d) 2 mv

2
 

 m æO;eku dh ,d xsan ‘V’ pky ls fdlh nhokj ls Vdjkrh gS rFkk leku pky 
ls leku js[kk ls okil ykSVrh gSA ;fn nhokj ds æO;eku dks vuar ekuk x;k 
gS rc nhokj ij xsan ds }kjk fd;k x;k dk;Z gksrk gS & 

(a)  mv
2
  (b) Zero  (c) 

1

2
mv

2
  (d) 2 mv

2 

22. For which of the following does the centre of mass lie outside the body? 

(a)  A Pencil    (b) A Shotput  (c) A dice   (d) A bangle  

 fuEu esa ls fdlds fy, æO;eku dsUæ fi.M ds ckgj fLFkfr gksrk gS\ 
(a) isfUly   (b) xksyk  (c) ikalk  (d)  pwM+hA 

23. 
A point mass m is placed inside a spherical shell of radius R and mass M at a distance 

2

R
 

from the centre of the shell. The gravitational force exerted by the shell on the point mass is    

(a)  
2

GMm

R
   (b) 

2

2GMm

R
  (c) Zero (d) 

2

4GMm

R
 

 ,d fcUnq æO;eku M , fdlh f=T;k R ,oa æO;eku M okys xksfy; dop esa 

dop ¼Shell½ ds dsUæ ls 
2

R
 nwjh ij fLFkr gSA fcUnq æO;eku ij dop }kjk 

yxk;k x;k xq:Rokd"kZ.k cy gS & 

(a)  
2

GMm

R
   (b) 

2

2GMm

R
  (c) Zero  (d) 

2

4GMm

R
 

24. The escape velocity of 10g. body from the earth is 11.2 km s
-1

 Ignoring air resistance, the 

escape velocity of 10 kg of the iron ball from the earth will be   

(a)  0.0112 km s
-1

  (b) 0.112 km s
-1

 (c) 11.2 km s
-1

  (d) 0.56 km s
-1

  

 

 10 xzke fi.M dk i`Foh ls iyk;u osx 11-2 fdeh@lsd.M gSA ok;q ds çfrjks/k 
dks vuns[kk djrs gq,] 10 kg yksgs dh xsan dk i`Foh ls iyk;u osx gksxk &  

(a)  0.0112 km s
-1

  (b) 0.112 km s
-1

 (c) 11.2 km s
-1

  (d) 0.56 km s
-1
 

25. Stress is a -------------- quantity. 

(a)  Scalar   (b) Vector   (c) tensor   (d) dimensionless  

 çfrcy ,d --------------- jkf’k gSA 
(a) vfn’k  (b) lfn’k  (c) çfn’k  (d)  foekghuA 

26. According to Hooke’s law of elasticity, it stress is increased, the ratio of stress to strain  

(a)  decreases   (b) increases   (c) becomes Zero (d) remains constant  

 gqd ds çR;kLFkrk ds fu;ekuqlkj] ;fn çfrcy c<+rk gS rks çfrcy ls fod`fr 



dk vuqikr &  
(a) ?kVrk gS  (b) c<+rk gS  (c) 'kwU; gks tkrk gS  (d)  fu;r jgrk gSA 

27.  Which of the following is associated with liquid only and not for gases ?  

(a)  Surface tension    (b) Pressure   (c) Volume  (d) Density  

 fuEu esa ls dkSu&lk dsoy æo ls lacaf/kr gS rFkk xSlks ls ugha\ 
(a) i`"B ruko  (b) nkc  (c) vk;ru  (d)  ?kuRoA 

28. Applications of Bernoulli’s theorem can be seen in  

(a)  dynamic lift of aeroplane  (b) hydraulic press  (c) helicopter (d) none of these 

 cuwZyh ds çes; ds vuqç;ksx dks fdlesa ns[kk tk ldrk gS\ 
(a) ok;q;ku ds xfrd mRFkkid esa  (b) æopkfyr ncko esa  
(c) gsyhdkWIVj esa      (d)  buesa ls dksbZ ughaA 

29. An ideal fluid flows through a pipe of circular cross-section made of two sections with 

diameters 2.5 cm and 3.75 cm. The ratio of the velocities in the two pipes is  

(a)  9: 4  (b) 3:2  (c) 3 :  2   (d) 2  : 3   

 dksbZ vkn’kZ rjy 2-5 lseh ,oa 3-75 lseh O;klksa okys nks Hkkxksa ds cus o`Ùkh; 
vuqçLFk ifjPNsn dh uyh esa cgrk gSA nksuksa ufy;ksa esa osxksa dk vuqikr gksxk& 

(a)  9: 4  (b) 3:2  (c) 3 :  2   (d) 2  : 3 
30. Dimensional formula of Specific heat capacity is  

(a)  [ML
2
 T

-2 
K]  (b) [ML

2
 T

-2 
K

-1
] (c) [MLT

-2
 
 
K

-1
] (d) [M

0
 L

2
 T

-2
 K

-1
] 

 fof'k"V Å"ek /kkfjrk dk foeh; lw= gS & 
(a)  [ML

2
 T

-2 
K]  (b) [ML

2
 T

-2 
K

-1
] (c) [MLT

-2
 
 
K

-1
] (d) [M

0
 L

2
 T

-2
 K

-1
] 

31. Dimensional formula of thermal conductivity is  

(a)  [MLT 
-2  

K
-1

]  (b) [MLT 
-3  

K
-1

] (c) [ML
2
  T 

-2  
K

-1
] (d) [MLT 

-3  
K] 

 Rkkih; pkydrk dk foeh; lw= gS & 
(a)  [MLT 

-2  
K

-1
]  (b) [MLT 

-3  
K

-1
] (c) [ML

2
  T 

-2  
K

-1
] (d) [MLT 

-3  
K] 

 
32. A body cools in 7 minutes from 60

0
C to 40

0
C. Then what its temperature in next 7 minute? 

(If the surrounding temperature is 10
0
C.) 

(a)  20
0
C   (b) 30

0
C  (c) 28

0
C  (d) 35

0
C 

 ,d oLrq 7 feuV esa 60
0
C ls 40

0
C rd B.Mh gks tkrh gS rks vxys 7 feuV 

i’pkr~ mldk rki fdruk gksxk\ ¼;fn okrkoj.k dk pki 10
0
C gS½ 

(a)  20
0
C   (b) 30

0
C  (c) 28

0
C  (d) 35

0
C 

33. First law of thermodynamics is the law of conservation of   

(a)  Mass   (b) Lincar momentum   (c) Energy  (d) Angular momentum  

 Å"ekxfrdh dk çFke fu;e gS & 
(a) æO;eku laj{k.k fu;e  (b) jSf[kd laosx laj{k.k fu;e 
(c) ÅtkZ laj{k.k fu;e    (d) dks.kh; laosx laj{k.k fu;eA 
 

34. Internal energy of an isolated system  

(a)  remains the same (b) increases   (c) decreases   (d) none of these  

 fofYxr fudk; dh vkUrfjd ÅtkZ  
(a) iwoZor~ jgrh gS  (b) c<+rh gS    (c) ?kVrh gS (d)  buesa ls dksbZ ughaA 



35. Find the efficiency of a Carnot’s engine working between 127
0
 C and 27

0 
C ?   

(a)  35%  (b) 25%  (c) 50% (d) none of these 

 ,d dkuksZV batu 127
0
 C rFkk 27

0 
C ds e/; dk;Z’khy gSA bldh n{krk Kkr 

dhft,\ 
(a)  35%  (b) 25%  (c) 50% (d) buesa ls dksbZ ughaA 

36. Difference of CP  and CV is -  

(a)  R   (b) J   (c) ϒ   (d)  G  

 CP   vkSj  CV  dk vUrj gksrk gS & 
(a)  R   (b) J   (c) ϒ   (d)  G 

37. If the pressure and volume of certain Quantity of ideal gas are half, then its temperature ;    

(a)  doubled     (b) becomes one-forth   

(c) remains constant    (d) become four time   

 ,d vkn’kZ xSl dh fuf’pr ek=k ds nkc o vk;ru vk/ks dj fn, tkrs gSa] rks 
bldk rki gksxk & 
(a) nqxquk     (b) ,d&pkSFkkbZ 
(c) fu;r     (d) pkj xq.kkA   

38. Equation of a simple harmonic motion is given by –  

  X= 10 sin (20t + 0.5) 

 where X is in meter and  t is  in second. Find its frequency   

(a)  3.14 Hz   (b) 6.28 Hz  (c) 3.18 Hz  (d) 1.57 Hz  

 ,d ljy vkorZ xfr fuEu lehdj.k ls çnf’kZr gS & 
   X= 10 sin (20t + 0.5) 

 ;gk¡ X ehVj esa rFkk t  lsd.M esa gSA bldk vko`fÙk gksxh& 
(a)  3.14 Hz   (b) 6.28 Hz  (c) 3.18 Hz  (d) 1.57 Hz 

 
39. A progressive wave  is represented by Y= 10 sin (100 π t – 2 π x) 

Where X and Y is in meter, and t is in second. Then maximum particle velocity -  

(a)  100 π m/s  (b) 20 π m/s  (c) 200 π m/s  (d) 1000 π m/s  

 ,d çxkeh rjax dks Y= 10 sin (100 π t – 2 π x) }kjk O;Dr fd;k tkrk gS tgk¡ X 

,oa Y ehVj esa gSa rFkk t lsd.M esa gSA d.k dk vf/kdre osx & 
(a)  100 π m/s  (b) 20 π m/s  (c) 200 π m/s  (d) 1000 π m/s 

40. The Doppler effect is applicable for  

(a)  Sound waves only   (b) Light waves only    

(c) Both sound and light waves    (d) none of these  

 MkWIyj çHkko ykxw gksrk gS & 
(a) dsoy /ofu rjaxksa ds fy,  (b) dsoy çdk’k rjaxksa ds fy, 
(c) /ofu ,oa çdk’k nksuksa ds fy, (d) buesa ls dksbZ ughaA   
 

 

 

 



 

 

ANSWER 

1 - (c) 11 – (a) 21 -  (b) 31 – (b) 

2 - (d) 12 – (c) 22 – (d) 32 – (c) 

3 – (b) 13 – (d) 23 – (c) 33 – (c) 

4 – (b) 14 – (a) 24 – (c) 34 – (a) 

5 – (a) 15 – (b) 25 – (c) 35 – (b) 

6 – (a) 16 – (b) 26 – (d) 36 – (a) 

7 – (c) 17 – (b) 27 – (a) 37 – (b) 

8 – (a) 18 – (d) 28 – (a) 38 – (c) 

9 – (c) 19 – (d) 29 – (a) 39 – (d) 

10 – (c) 20 – (d) 30 – (d) 40 – (c) 

 


